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QUESTION 1

Click the Exhibit button. 

Referring to the exhibit, which statement is correct about the Post-Install user\\'s role? 

A. It is used for help desk monitoring and workflow for all sites. 

B. It has access limited to installing APs and switches at all sites. 

C. It has read-only access to all sites. 

D. It has full access to all sites. 

Correct Answer: B 

 

QUESTION 2

RF templates are assigned to which Mist configuration object? 

A. config templates 

B. site groups 

C. WLANs 

D. sites 

Correct Answer: A 
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QUESTION 3

Which two statements are correct about the radio frequency rule of 10s and 3s? (Choose two.) 

A. If the signal strength increases by 3 dB, the power is doubled. 

B. If the signal strength decreases by 10 dB, the power decreases tenfold. 

C. If the signal strength increases by 3 dB, the power is tripled. 

D. If the signal strength decreases by 10 dB, the power is halved. 

Correct Answer: BD 

 

QUESTION 4

Mist WLAN objects are configurable at which two levels? (Choose two.) 

A. site group 

B. organization 

C. site 

D. access point 

Correct Answer: CD 

 

QUESTION 5

The customer wants to broadcast a WLAN at a certain time and day of the week. 

Which statement is correct in this scenario? 

A. Third-party integration is required to achieve this requirement. 

B. Mist supports this function with an additional subscription. 

C. APs need to be upgraded for this feature. 

D. SSID scheduling should be configured. 

Correct Answer: D 
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